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Unit 3 Day 7: Linear R i
Best Fit Line
You have learned how to find and write equations for lines of fit by hand. Many

calculators use complex algorithms that find a more precise line of fit called
the best-fit line.

One algorithm is called linear regression. We can find the linear regression e o
using the graphing calculator.

To enter the data: EDIT L, is independent variable; L, is dependent variable

Calculator Steps:| STAT [CALC 4: LinReg VARS |\-VARS FUNCTION 1:Y,

Your calculator may also compute a number called the correlation coefficient.
This number will tell you if your correlation is positive or negative and how
closely the equation is modeling the data. The closer the correlation coefficient
isto 1 or-1, the more closely the equation models the data.

To turn the correlation coefficient on: - E DiagnosticOn m ( 0\“* av C C, SZ_

» [f the correlation coefficient is close to 1 or -1, the fit is S V\q

0 & &l ne
= The farther away from 1 or -1, thekm& L@r the fit. \“\— SQ'\—C P A MI\’
Lo
= If the correlation coefficient is positive, the slope will be \N

» [f the correlation coefficient is negative, the slope will be 4M8_GM

We will often need to interpret the slope and y-intercept in the context of the problem.
Descriptions of slope can often follow this pattern:

» [|f the scatterplot appears random, there is

per
(Topic of data)  (increases/decreases)  (slope) (v-units) per  (x-units).
—

The y-intercept is the stdrting value, or what the depend@f variable is when the
independeans variable is 0.

EXAMPLE: The average lifespan of American women has been tracked, and the model for the data

is y=0.2t+ 73, where [w

INTERPRETATION:
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REAL WORLD EXAMPLE 2: HOCKEY
The table below sh he gf goals dbyh ky eam per, -
year. Let x rep h e f;z f E ‘ {
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